FRE28(2016)F B KEHERT B KISH OKOKE OKERKBHIRESR)

[EEE7 Py [EEE7 Py [EEEIr e

34 - 502 LBR 34 - 502 [LBE 34 - 503 LBR

LER(LS) LER(LE) LSRR (LEHEER)

[%7kiH4] 01 - 00 [%7kiH4] 02 - 00 [%7kiH4] 01 - 00

)5 KE BREKE Bri#i%KiE

BEIER KiE&] KiE&] KiE&]

AEJI AEJI J\E I

[FRknDiEE] [FRknDiEE] [FRknDiEE]

LR -RFK (B LR - &K (B SN i v S4=Fi

[1BF5KE] 83,648 (m) |[1HF%/KE] 9,825 (m) |[1BF4%KE] 25,663 (m)

AKiEHOK AKiEHOK AKiEHOK

= =K Ty E1%k == =K Ty E1%k = &I Ty E1%k
TUFEVRUEDIEEY <0.0020 <0.0020  <0.0020 4 <0.0001  <0.0001  <0.0001 12 <0.0020 <0.0020  <0.0020 4
5V RUEDIEEY <00002 <0.0002  <0.0002 4 <00001  <0.0001  <0.0001 12 <00002  <0.0002  <0.0002 4
ZITWRUZDIEEY <0002  <0.002 <0.002 4 <0.001 <0.001 <0.001 12 <0.002 <0.002 <0.002 4
1,2—9bOnIsy <0.0004 <0.0004  <0.0004 4 <0.0001  <0.0001  <0.0001 4 <00004  <0.0004  <0.0004 4
MLTY <0040  <0.040 <0.040 4 <0.001 <0.001 <0.001 4 <0.040 <0.040 <0.040 4
TRINEEY 2—IFIAFIIL) <0008  <0.008 <0.008 4 <0.001 <0.001 <0.001 4 <0.008 <0.008 <0.008 4
HiIE R <0.06 <0.06 <0.06 24
ZEibiE R
yhnaye k=L 0.001 <0.001 <0.001 4 0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 4
k05— 0003  <0.002 <0.002 4 0002  <0.001 <0.001 4 0.002 <0.002 <0.002 4
BEE <0.01 <0.01 <0.01 4 0.02 <0.01 <0.01 4
BERER 0.7 05 06 12 13 06 1.0 24 0.7 06 06 12
it 735 39 26 3.1 4 18 <0.1 08 24 32 22 26 4
1,1,1—kJoonIsY <0030  <0.030 <0.030 4 <0.001 <0.001 <0.001 4 <0.030 <0.030 <0.030 4
AFI—t—=TFII—TIV (MTBE) <0002  <0.002 <0.002 4 <0.001 <0.001 <0.001 4 <0.002 <0.002 <0.002 4
BEHMEGRIVAVENILEES)
R5GAE (TON) < < < 12 1 < < 24 <1 <1 <1 12
EREGYTUTIEER) 2.0 -28 -23 4 2.0 -28 -23 24 -2.1 -24 -22 4
HEXEMRR 5 0 0 12 0 0 0 24 1 0 1 12
1,1—ybonIFlby <00010  <0.0010  <0.0010 4 <00010  <0.0010  <0.0010 4 <00010  <0.0010  <0.0010 4
JKig(°C) 275 73 16.6 12 28.0 6.8 16.0 24 224 58 147 12
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
SEIMRUV)IR S EE(50mmt )L (5 FRBY) 0.011 0.003 0.007 24
FAEME(SS)
BRI R
LEHR
DV
VIBRAAY
RUNOAS D BRE
£ (n/ml)
FIHYE 200 16.0 18.0 12 214 140 18.0 24 230 17.0 200 12
BEEFR
il S 5.4 42 5.0 24

BT




FRE28(2016)F B KEHERT B KISH OKOKE OKERKBHIRESR)

[EEE7 Py [EEE7 Py [EEEIr e

34 - 503 [LBR 34 - 504 [EBE 34 - 504 LBR

LSRR (LEHEER) LBEGEEID LSRR GEAEND

[%KkiZE] 02 - 00 [%KiZE] 01 - 00 [%KZE] 02 - 00

=YR%KE BiHRKE HtEKiE

BEIER KiE&] KiE&] KiE&]

JNEE AR AR

[k DFELE] [k DFELE] [k DFELE]

CINEE: S L - R (BR) S L - R (BR)

[1 B FEyEkE] 32,420 (M) |[1AFEH%KE] 23,325 (m) |[1BEH%KE] 33,542 (m)

AKiEHOK AKiEHOK AKiEHOK

= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

TUFEVRUEDIEEY <0.0020  <0.0020  <0.0020 4 <0.0020  <0.0020  <0.0020 4 <00020  <0.0020  <0.0020 12
5V RUEDIEEY <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 4 <0.0002  <0.0002  <0.0002 12
ZITWRUZDIEEY <0002  <0.002 <0.002 4 <0002  <0.002 <0.002 4 <0.002 <0.002 <0.002 12
1,2—9bOnIsy <0.0004  <0.0004  <0.0004 4 <0.0004  <0.0004  <0.0004 4 <00002  <0.0002  <0.0002 12
LIV <0040  <0.040 <0.040 4 <0004  <0.004 <0.004 4 <0.001 <0.001 <0.001 12
TRINEEY 2—IFIAFIIL) <0008  <0.008 <0.008 4 <0008  <0.008 <0.008 4 <0.006 <0.006 <0.006 4
HIERE <0.06 <0.06 <0.06 12
ZEbiesk <0.06 <0.06 <0.06 12
yhnaye k=L 0.001 <0.001 <0.001 4 0.001 <0.001 <0.001 4
k05— 0.003  <0.002 <0.002 4 <0002  <0.002 <0.002 4 0.002 <0.001 <0.001 4
BEE <0.01 <0.01 <0.01 4 0.02 <0.01 <0.01 4 <0.10 <0.10 <0.10 4
BREIEHR 0.7 06 06 12 1.1 08 09 12 1.1 0.7 08 12
it 735 28 19 23 4 35 23 29 4 34 2.1 26 12
1,1,1—kJoonIsY <0030  <0.030 <0.030 4 <0030  <0.030 <0.030 4 <0.001 <0.001 <0.001 12
AFI—t—=TFII—TIV (MTBE) <0002  <0.002 <0.002 4 <0002  <0.002 <0.002 4 <0.002 <0.002 <0.002 12
AHMECBIVHVEENIVLEEE) 30 2.3 26 4
R5GAE (TON) < < < 12 < < < 12 <1 <1 <1 12
EREGYTUTIEER) 2.4 29 -26 4 -1.6 -2.1 -1.8 12
HEXEMRR 10 0 1 12 27 1 7 12 0 0 0 12
1,1—ybonIFlby <00010  <0.0010  <0.0010 4 <0.0010  <0.0010  <0.0010 4 <00010  <0.0010  <0.0010 12
Kig(°Cc) 23.9 8.1 14.8 12 28.4 18.4 23.1 12 271 6.6 16.6 12
PUEITREER
EYLFRIEERERE(BOD)
LB R ERE(COD)
L5 RUV)IR A FE (50mm 2 )L 43 R B )
FAEME(SS)
BRI R
LEHR
DV
VIBRAAY
RUNOAS D BRE
£ (n/ml)
PIHIE 14.0 1.0 13.0 4 31.0 27.0 300 4 28.1 18.1 227 12
BEEFR
il S
BT




FRE28(2016)F B KEHERT B KISH OKOKE OKERKBHIRESR)

[EEE7 Py [EEE7 Py [EEEIr e
34 - 504 |[RER - _
LBEGEEND
[%7kiH4] 03 - 00 (% 7Ki54] [KiZ4E]
HH$KIS
BEIEH [kiE%] [kiE%] [kiE%]

ARl
[k DFELE] [k DFELE] [k DFELE]
S LR - &K (B
[EEHEKE] 1,103 (m) |[1 B F5:5kE] (m) [NAFHHEKE] ()
oK O K oK O K oK O K
= =K Ty E1%k == =K Ty E1%k = &I Ty 1%

TOFEVRUZDILEY <0.0020 <0.0020  <0.0020 4

DIVRUEDILEY <0.0002  <0.0002  <0.0002 4

2TV RUEDIEEY <0.002 <0.002 <0.002 4

1,2—9bOnIsy <0.0004  <0.0004  <0.0004 4

LIV <0040  <0.040 <0.040 4

TRIVEES 2—IFIAFVIL) <0.008 <0.008 <0.008 4

HiIE R

ZEibiE R

Jhoo7e b= bk 0.001 <0.001 <0.001 4

fakoas- <0.002 <0.002 <0.002 4

BEE 0.01 <0.01 <0.01 5

RRIER 0.6 0.4 0.5 12

picd 3o 2.8 18 22 4

1,1,1—M)hoaTsy <0.030 <0.030 <0.030 4

AFI—t—TFII—TIL(MTBE) <0.002 <0.002 <0.002 4

BRMEGRIVI VBN LEER)

R5GAE (TON) <1 <1 <1 12

EREGYTUTIEER) -1.7 -2.1 -18 4

HEXEMRR 52 0 7 12

1,1—ybonIFlby <00010  <0.0010  <0.0010 4

JKiE (°C) 28.1 17.9 236 12

PUEITREER

EYILFHIEERERE(BOD)

{LZ B R ERE(COD)

SEHMRUV)IR S FE(50mm )L A FREF)

FAEME(SS)

(o3 gkd i 3040

L2ER

EDV

VIBRAAY

FINOARY £ B RE

£ (n/ml)

FIVHUE 29.0 240 27.0 4

BEBR

il S

BT




